sin*8 x + cos*8 x=17/16 cos”2 2x

(sin*2 x)*4 + (cos”*2 x)*4=17/16 cos”2 2x
((1-cos2x)/2)*4+((1+cos2x)/2)*4=17/16 * cos”"2 2x

Cos2x=z

((1-z)/2)*4+((1+2)/2)*4=17/16 * z*2
(1-z)*4/16+(1+2)*4/16=17/16*z"2
(1-4z+6z72-4z"3+2"4+1+42+62"2+42z"3+2"4)/16=17/16*z"2|*16
2+12z"2+22"4-17z2"2=0

2z74-5z"2+2=0

zN2=y
2yA2-5y+2=0 cos2x=V2/2
D=9 cos2x=-V2/2

2x=P/4+Pk/2

1=(5+3)/4=2
yi=(o%3) x=P/8+Pk/4

y1=(5-3)/4="/-
zN2=2
z=+-V2
zN2=" /\ \
z=+-V(1/2) — N\
cos2x=V2

Pewl HeT

cos2x=V(1/2)

cos2x=V2/2

2x=+-P/4+2Pk

x=+-P/8+Pk

cos2x=-V2/2

2x=+-3P/4+2Pk

x=+-3P/8+Pk

OTBeT:+-P/8+Pk;+-3P/8+Pk == P/8 + Pk/4

SP/8 - 3P/8

7P/8
P/8
9P/8 -P/8
-3P/8

11P/8

c0S2x=c0os"2 x - sin2 x=
=1 - sin?2 x - sin®2 x=1-2sin*2 x
=cos”2 x - (1-cos”2 x)=2cos"2 x - 1

cos2x=1-2sin*2 x
sin2 x=(1-cos2x)/2

cos2x=2cos2 x - 1
cos”2x=(1+cos2x)/2




